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[AEM304] Which of these is not a barrier to effective communication?
compatible background of the receiver

[AEM304] The following are advantages of meetings, except:
They assist  rumours to grow and misinformation

[AEM304] Ã‚Â Ã‚Â  Which of these is also not a nature and characteristic of a farmer?
They learn more easily than young people

[AEM304] The following factors are all important in the choice and use of 
communication channels by a communicator except:
Ã‚Â Ã‚Â Ã‚Â   A and B only

[AEM304] the following except one are key advantages of mass media:
providing selective facts.

[AEM304] Ã‚Â Ã‚Â Ã‚Â Ã‚Â Ã‚Â Ã‚Â  the following are the disadvantages of upward 
communication, except:
Subordinates trust their superiors and there is, usually, good communication between 
superiors and subordinates.

[AEM304] The communicator is faced with these constraints, except:
opportunities

[AEM304] Ã‚Â  Which of these is not a indigenous way of passing deliberate instruction?
formal classroom instruction by teachers

[AEM304] Ã‚Â Ã‚Â Ã‚Â  Communication involves:
all of the above

[AEM304] Attributes of innovations includes and except:
simplicity
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